K %ﬁmﬁ SRS 5 A _CN EEFEE 5220044001 eI
ESimIE] A0 19 ESiRIIH 0 [
X i 5 4 3 2 i 1) 5 4 3 2 1 s |
1. oo Aliho J’Tx*ﬁfﬁhnfwiﬂx 15 1 2 0 1 0 4.53 0 0 0 0 0 0 [Fhizal
2 B 0V =/ SRROEE 7, XD TV TT S 15 1 1 0 2 0 4.42 0 0 0 0 0 (M ESEAY
3.% %wuﬁﬁﬂ TDDDRT VD, 14 2 i 0 2 0 4.37 0 0 0 0 0 0 [zl - F3
HATEe I 2 15 1 2 0 1 0 4.53 0 0 0 0 0 0 [FEHireL
r. — AR %) (L@ 0 Y A% 15 1 2 0 1 0 4.53 0 0 0 0 0 [ ESTAY
(6. ORI I L C R e e C IV ET A, 14 2 2 0 1 0 4.47 0 0 0 0 0 0 |FhuzL
7 BITIRECEELD, 15 2 2 0 0 0 4.68 0 0 0 0 0 [N ESTAY —— HTHER
8. —DF B\ Lon VIR E LT 15 2 2 0 0 0 4.68 0 0 0 0 0 [ ETA &5 R
S T ESiRiiA SR I 5 A CN o E5 ] 5220045001 TeIT
Al E R EiE] INEES R % AREIE] 1
u&“ ] 5 4 3 2 1 JEmzs | ) 5 4 3 2 1 [RE RS
BEILCVET A 0 0 0 0 0 (EEA 0 0 0 0 0 5.00
9. unxr; mxyx 7 /;f//wﬁ DOEXS, CELDHYRTNTTh, 0 0 0 0 0 0 ESS 7D 1 0 0 0 0 0 5.00
3. REOMINIDAoT 0 0 0 0 0 0 |ghiml 1 0 0 0 0 0 [5.00 2 W  pras
1 T EDEL B A TmO T D, 0 0 0 0 0 0 [FEhzeL] 1 0 0 0 0 0 5.00
5. 2 7 1 (LR — - SRR ) (BB CJ Ay 0 0 0 0 0 0 [FEheL| 1 0 0 0 0 0 5.00
6. R AHICHIBICC R R E 0 0 0 0 0 0 [FEfarel| 1 0 0 0 0 0 5.00
7. HEDONE TR Cx LT 0 0 0 0 0 0 [FEMakel| 1 0 0 0 0 0 5.00 —— H R
8. ZOREILL S VIRDFEAELTD, 0 0 0 0 0 0 [FhzeL] 1 0 0 0 0 0 5.00 s —— iR
Sz 11 ESiREES G IRLES =z 5 2] CN EEEEN 5220046001 T
AT i ES ] kil EES TR e [
X il 5 4 3 2 i s | ) 5 4 3 2 1 ¥
1. Vo AR R DTSV O E T D 0 0 0 0 0 (IRESA I 1 1 0 0 0 4.83
2. RB(AHOR T 0V =/ 2 FREOEES, TFETOHIRTNTT D, 0 0 0 0 0 0 %Z’@fﬁb 15 2 1 0 0 0 4.78
3. DRI T W, 0 0 0 0 0 0 [Zln 16 1 1 0 0 0 [ 483 R7Q pras
1. FEEDOEL B TmE) C I A 0 0 0 0 0 0 [EHzel] 16 1 1 0 0 0 4.83
5. M7 5 (U AR — - R R ) @B C 9 7% 0 0 0 0 0 0 [FEHzl| 16 1 1 0 0 0 4.83 5
6 f(QuHJ ICHBC CEV R R E IO ET 2, 0 0 0 0 0 0 [EHzelL] 16 1 1 0 0 0 4.83 Ar4
ISR CEELT A 0 0 0 0 0 0 [FEfzel| 15 2 1 0 0 0 4.78 —— R
8. :m#’i% L/m V)HS‘(V)fH«%fibtﬁ‘o 0 0 0 0 0 0 |mmizeL] 16 2 0 0 0 0 4.89 s —e— R
hEEE T TN IE NS =z 5 Zhmi] CN SEES T ] 5220047001 TeIT
A ESRI ] A EES T %0 A ] 14
B 1] 5 4 3 2 1 ez | ) 5 4 3 2 1 e | ¥
RN TSIV ET D 0 0 0 0 0 0 [FEhzel| 11 0 3 0 0 0 4.57
2. BR(EB)RT oY =/ FMOBES, LFHILIYRTVTTH, 0 0 0 0 0 0 ES NP 10 1 3 0 0 0 4.50
3. HEDORIADIDRT A, 0 0 0 0 0 0 [FEhal 11 0 3 0 0 0 [ 457 Pz QU a3
1 EDEL B A TmO T 2, 0 0 0 0 0 0 [FEHizeL| 11 0 3 0 0 0 4.57
5 uHmmr( U — - SRR %) (BB T T 7 0 0 0 0 0 0 [FEtuzel| 11 0 3 0 0 0 4.57
6. RO AN BT C LV e SO E T D, 0 0 0 0 0 0 [FEhzel| 11 0 3 0 0 0 4.57 ma
7. E%mmﬁ THRECEELTD, 0 0 0 0 0 0 [ZHazeL| 10 1 3 0 0 0 4.50 —— iR
8. — DTz EA\ Lol VR £ LT, 0 0 0 0 0 0 |Zfzl| 10 1 3 0 0 0 | 4.50 B —e— iR
NN = ﬂ"éiﬁf B ABFELE B3 5 B CN FrHES | 5220053001
T AT R ESR 0] [ EES e 3 BEZ] 8
4 il 5 4 3 2 1| e | P 5 4 3 2 1| mEwE | P
1. Vo AR > R TSIV O E T D 0 0 0 0 0 0 [Zmikl_ 8 0 0 0 0 0 5.00
2. BIR(E BT 0T =/ A RO BE T, LFZDMDRT U TI 7, 0 0 0 0 0 0 Fehizelf 8 0 0 0 0 0 5.00
3. HEDORAIEDDIRT VD, 0 0 0 0 0 0 [FEhizeL| 8 0 0 0 0 0 5.00 RE7Q
1. DL LA LM C I A 0 0 0 0 0 0 [Fhuzel| 8 0 0 0 0 0 5.00
5. Al 7 (LR — R kR R ) (@B T A 0 0 0 0 0 [ ET 0 0 0 1 0 4.50
6. W O M HIBTL C RV e CINE T 2, 0 0 0 0 0 0 |ZEHirel] 8 0 0 0 0 0 5.00
7. R ONBII I CEELT D, 0 0 0 0 0 0 [ZEfizel| 8 0 0 0 0 0 5.00 ’ —— R
8. OB RIS DIRVFHA EL T, 0 0 0 0 0 0 [izel] 8 0 0 0 0 0 5.00 ps —— % R
S TR ERiIREE B2 5 FFh]_CN RS 5235033001 TIT
@1“ TR ESimIE] ] TREE| 32 TERG I 3] e
il 5 4 3 2 1| e | P 5 4 3 2 1| el | Y
TR D TSI OO E Ms 27 2 1 0 2 0 1.63 22 2 5 0 0 0 1.59
K, I, FEEADOBOMETLED. | 05 3 2 0 2 0 4.53 20 3 6 0 0 0 4.48
3. REDIRBENRILDID m“wr@‘f)\ 25 3 2 0 2 0 | 4.53 | 20 1 1 0 1 0 | 4.45 7 i3
1. DL A TmE) C 3 A 25 3 2 0 2 0 4.53 21 3 5 0 0 0 4.55
5. 2Pl 7k (LR —F, Fk, fhonse) \LmeCd 7% | 25 3 2 0 2 0 4.53 21 3 5 0 0 0 4.55
6. IR CLV R B E I ET 2, 25 3 2 0 2 0 4.53 22 1 6 0 0 0 4.55
7. R DN CEELT D, 26 3 2 0 1 0 4.66 22 2 5 0 0 0 4.59 —— AR
8. OB RIS DIRVFHA EL T, 27 4 1 0 0 0 4.81 22 3 4 0 0 0 4.62 M5  —memliE
TR T DAL T 15 Rl oN R 5335036001 T
X TR ESimIR] ] BEE| 11 TERG I i [AE I
e il 5 4 3 2 1 1z | ) 5 4 3 2 1 s | )
1. V7 Ao (R NI nru\igw 10 0 0 0 1 0 1.64 3 0 1 0 0 0 1.78
2. BR(ABORL T oY =28 FROEET, LFITHMIRLTNTTH 9 1 0 0 1 0 4.55 7 1 1 0 0 0 4.67
3. R DRAIEDDIRT VD, 9 1 0 0 i 0 4.55 8 0 1 0 0 0 4.78 i3
1. R DEL LA TmE) C 3 A 9 1 0 0 1 0 4.55 7 1 1 0 0 0 4.67
.mﬁb(ﬂw R RBRTIR ) (@) C T A 9 1 0 0 1 0 4.55 8 0 1 0 0 0 4.78
RO PNCHBLCE VR ELEENET D, 9 1 0 0 1 0 4.55 8 0 1 0 0 0 4.78
ﬂ;‘ﬁ\@wi’ﬁ‘:liﬂﬁ¥f%ibtf}% 9 1 1 0 0 0 4.73 7 1 1 0 0 0 4.67 —o— AR
8. ZOF B LoD DIRVFHA EL T 10 1 0 0 0 0 491 7 1 1 0 0 0 4.67 M5 —m—gBEE
f'% 1 :I: i ESiREES 3N 35 SRAE 5 “ERH | A H 2 | 5235037001 TeIT
LT ESRUIH i) REE| 14 ;mwa 3 BEA] 14
X i 5 4 3 2 1 e | ) 5 4 3 2 1 e | )
1. o AR > R D TSIV ET D 13 0 1 0 0 0 4.86 11 0 2 0 1 0 1.43
2. BH(E BT 0y =2 S RO BN, TFEDNOLTOTT 12 1 1 0 0 0 4.79 12 0 1 0 1 0 4.57
3. ORI DT W, 12 1 1 0 0 0 [ 4.79 12 0 1 0 1 0 | 457 ri7 Fis
1. B %@Jﬁyf»\ ENEST RTINS AN 12 1 1 0 0 0 4.79 10 1 2 0 1 0 4.36
5. %}m(w‘—% BRI TS R 12 1 1 0 0 0 4.79 13 0 1 0 0 0 4.86
6. R A PN AT U C LV CIOET A, 12 1 1 0 0 0 4.79 12 0 2 0 0 0 4.71
T&A\@Vﬂ@aﬁ%éf%itf:m 11 1 2 0 0 0 4.64 11 1 1 0 1 0 4.50 —o— AR
8. ZO BIC LoD DIRVFHAEL T 13 1 0 0 0 0 4.93 12 1 1 0 0 0 4.79 M5  —m—mfiE




WIEET %Jy’ifmfz YIRS 5 ] CN EEEEN 5235040001 TETT
His ES i A0 15 ESiRIIH 0 [
X i 5 4 3 2 i 1) 5 4 3 2 1 s |
1. oo Aliho \E%"/pzmnrwiﬂx 13 0 2 0 0 0 4.73 0 0 0 0 0 0 [Fhizal
2. BR(EHORT 0P =/ 2 FROBES, LFTbRTVTTH) 11 1 2 1 0 0 4.47 0 0 0 0 0 0 ES AP
3. % %wuﬁﬁﬂ 1EDD0RT D, 11 1 2 1 0 0 4.47 0 0 0 0 0 0 [zl B3
HATEe I 2 11 1 3 0 0 0 4.53 0 0 0 0 0 0 | FEHizel
r. N LIS LR A 12 1 2 0 0 0 4.67 0 0 0 0 0 [ ESTAY
(6. ORI I L C R e e C IV ET A, 11 1 3 0 0 0 453 0 0 0 0 0 0 [FEMirL
7 BITIRECEELD, 12 1 2 0 0 0 4.67 0 0 0 0 0 [N ESTAY —— iR
8. —DF B\ Lon VIR E LT 13 1 1 0 0 0 4.80 0 0 0 0 0 [ ETA &5 R
T — ESiRiRA R IRLES TR |5 RG] CN AOEE ] 5335042001 T
Frba—SFxy =71 TR i oS T 11 =3 B 25
X il 5 4 3 2 i wmz | P 5 4 3 2 1 [ i | S
1. Vo Ao R DTSV O E T D 22 1 3 0 0 0 1.73 23 0 1 0 1 0 4.76
2. BE(EBRT oY =/ 2 FROBES, LFEETLMVRTVTTH, 21 2 3 0 0 0 4.69 22 1 1 0 1 0 4.72
3. HEDORAEDDIRT VD, 21 2 3 0 0 0 4.69 22 1 1 0 1 0 4.72 a3
1. B DTS B LM C I A 21 2 3 0 0 0 4.69 21 2 1 0 1 0 4.68
5. Sl 5 (LA — - R R %) @Bl C T 7% 21 2 3 0 0 0 4.69 23 0 1 0 1 0 4.76
6 f(QuHJ CHBCCR VR R CBVET A | 21 2 3 0 0 0 4.69 23 0 1 0 1 0 4.76
AITERR CEXELTZA, 21 2 3 0 0 0 4.69 22 2 0 0 1 0 4.76 —— B R
8. :m#’i% Loﬁ V)lﬁmﬂiéfibtm 22 2 2 0 0 0 4.77 22 2 0 0 1 0 4.76 s~ —m— iR
Sy ae@fwﬁ PIISIEE EE 5 i _CN ﬂﬁ&;} I 5235045001 TerT
A ESimEI] i) TRmE | 31 ESmEIH] % FoZ ] 28
X il 5 4 3 2 i wnz | P 5 4 3 2 1 [ i | S
1. Vo AR > R DTSV O E T D 27 2 2 0 0 0 1.81 26 0 2 0 0 0 4.86
2. BE(EBORT oY =/ 2 FROBES, LFEETLMVRTVTTH, 27 2 2 0 0 0 4.81 25 1 2 0 0 0 4.82
3. HEDORAEDDIRT VD, 26 3 2 0 0 0 4.77 25 1 2 0 0 0 4.82 ) s
1. BEEDOEL B LM C I A 27 2 2 0 0 0 4.81 26 0 2 0 0 0 4.86
5. Sl 5 (U AR — - R TR %) 1@ Bl C T 7% 26 3 2 0 0 0 4.77 25 1 2 0 0 0 4.82
6 f(QuHJ CHBTC CR VR R CBVET 2% | 26 3 2 0 0 0 4.77 25 1 2 0 0 0 4.82
AITERR CEXELTZA, 26 3 2 0 0 0 4.77 25 1 2 0 0 0 4.82 —— B R
8. :m#’i% Loﬁ V)lﬁmﬂiéfibtm 27 3 1 0 0 0 4.84 25 2 1 0 0 0 4.86 s~ —m—giR
):ﬁq_il# AL B3 5 CN EEESE 5235049001 TaIT
AT hELIRhR=s2 TR ki S I S El BEE] 15
4 il 5 4 3 2 1| e | P 5 4 3 2 1| fEwlE | P
1. V7 Al R EDFESILCOE T A 12 2 2 0 1 0 1.41 11 1 3 0 0 0 4.53
2. BHR(EBORT oY =/ 2 FROBES, LFEETLPIRTVTT D, 11 3 2 0 1 0 4.35 10 2 3 0 0 0 4.47
¥ FED; )1 7b75 DT VD, 11 3 2 0 1 0 4.35 10 2 3 0 0 0 4.47 7 3
A IIE BT I 2 11 3 2 0 1 0 4.35 10 2 3 0 0 0 4.47
5. m&mf(m»& TRER L) 1L ) C ) A 11 3 2 0 1 0 4.35 10 2 3 0 0 0 4.47
6. B A HIC B L CLV R B CI O ET 7, 11 3 2 0 1 0 4.35 12 0 3 0 0 0 4.60
7. DN CEELTD, 11 2 4 0 0 0 4.41 11 1 3 0 0 0 4.53 —— B R
8. ORI oA DIV A E LT, 12 3 2 0 0 0| 459 10 2 3 0 0 0 | 447 s —m—giiR
= — ):ﬁq_il# AL B3 5 CN EEESE 5235051001 TIT
fi =7 4 TR ki S T S El BT
4 il 5 4 3 2 1| e | P 5 4 3 2 1| fEp ii’J
1. V7 Al R DEMSILCOE T A 21 1 2 0 0 0 4.79 19 1 1 1 1 0 4.57
2. BR(EBORT oY =/ 2 FROBES, LFEETLPIRT VT D, 19 2 3 0 0 0 4.67 20 0 1 1 1 0 4.61
¥ FED; W 7b75 DT VD, 19 2 3 0 0 0 4.67 18 2 1 1 1 0 4.52 7 a3
A LEEICTI A, 20 2 2 0 0 0 4.75 18 2 1 1 1 0 4.52
5. m&mf(m»& TR L) 1L ) C ) A 20 2 2 0 0 0 4.75 19 1 1 1 1 0 4.57
6. R AT CEV R BRSO ET 20, | 20 2 2 0 0 0 4.75 20 0 1 1 1 0 4.61
7. DN CEELTD 19 2 2 0 1 0 4.58 18 2 2 0 1 0 4.57 —— B R
8. OB RIS DIRVFHA E LT, 20 2 1 0 1 0 4.67 20 2 0 0 1 0 4.74 Ms  —m—plie
o vt TR R E2E 5 Zr] CN SR 5235063001 eIt
BURETT ESRUI ] WREE| 27 TERG I 3] [REA Y
e il 5 4 3 2 1 | ) 5 4 3 2 1 s | )
1. V7 Ao (R NI nru\igw 23 2 1 0 1 0 4.70 21 0 3 0 0 0 4.75
2. BR(ABORL T oY =28 FROEET, LFIXHMIRLTNTTH 23 2 1 0 1 0 4.70 20 1 3 0 0 0 4.71
3. I ED AT RT D, 22 3 1 0 1 0 4.67 20 1 3 0 0 0 4.71 i3
PSS o) N R IR 22 3 1 0 1 0 4.67 20 1 3 0 0 0 4.71
5. mﬁb(z—(w I R e ) |l 5] G 7%, 22 3 1 0 1 0 4.67 22 0 2 0 0 0 4.83
RO PNCHBLCE VR ELEENET D, 22 3 1 0 1 0 4.67 20 1 3 0 0 0 4.71
7. HEDONEIA CE ELT-0 23 3 1 0 0 0 4.81 20 2 2 0 0 0 4.75 —— B R
8. OB RIS DIRVFHA EL T, 24 3 0 0 0 0 4.89 21 1 2 0 0 0 4.79 M5  —m—mlie




